
If the specific heat capacity of water initially is 4.2×103 per kg per K and g=10m/s2, the difference in 

temperature of water between the top and bottom of a 210 m high water fall is ------ 

The energy conservation law: 

𝛥𝑊 + 𝛥𝑄 = 0  

where 𝛥W – changing of mechanical energy, Q – changing of heat; 

changing of mechanical energy: 

𝛥𝑊 = 𝑚𝑔𝛥ℎ  

h – high of body; 

changing of heat: 

𝑄 = 𝑐𝑚𝛥𝑡  

c - specific heat capacity, t – temperature; 

Therefore: 

𝑚𝑔(ℎ − 0) = 𝑐𝑚𝛥𝑡  

𝛥𝑡 =
𝑔ℎ

𝑐
=

210 𝑚∗ 10
𝑚

𝑠2

4200
𝐽

𝑘𝑔 𝐾

=
1

2
= 0.5 𝑑𝑒𝑔𝑟𝑒𝑒𝑠  

Answer: 0.5 𝑑𝑒𝑔𝑟𝑒𝑒𝑠 
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